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Most Bxpected 250 Questions

«7 @Reasoningbybasantsir

Statement / <h YA IBPS

10>725=226<9
Conclusions / feehd:

[.6<7
II.7=6

01. If only conclusion I is true.

02. If only conclusion II is true.

03. If either conclusion I or 11 is true.
04. If neither conclusion I nor 11 is true.

05. If both conclusion I and II are true



Most Bpected 250 Questions

«7 @Reasoningbybasantsir

Statement / hU:
A<B=D=E,C=B<F,G>F
Conclusions / Ry

I. A>F

II. G>E

01. If only conclusion I is true.

02. If only conclusion II is true.

03. If either conclusion I or 11 is true.
04. If neither conclusion I nor 11 is true.

0S5. If both conclusion I and II are true



Most Bxpected 250 Questions

@Reasoningbybasantsir

Statement / <hAA;
UZ2X=Y,YSASP,B=C>A
Conclusions / feRY:

I. BSU
II. P>U

01. If only conclusion I is true.

02. If only conclusion II is true.

03. If either conclusion I or 11 is true.
04. If neither conclusion I nor 11 is true.

0S5. If both conclusions I and II are true.



Most Bxpected 250 Questions

«7 @Reasoningbybasantsir

Statement / <h IBPS
AZ2P=S>T,V<B=T2Z2X
Conclusions / feRy:

I. A>X
I.P<B

01. If only conclusion I is true.

02. If only conclusion II is true.

03. If either conclusion I or 11 is true.
04. If neither conclusion I nor 11 is true.

05. If both conclusions I and II are true



Most Bxpected 250 Questions

«7 @Reasoningbybasantsir

Statement / <h YA

S>U>V,Y<U<Z,Z<X>W
Conclusions / fery:

I.S<Z
IL.X>Y

01. If only conclusion I is true.

02. If only conclusion II is true.

03. If either conclusion I or 11 is true.
04. If neither conclusion I nor 11 is true.

05. If both conclusions I and II are true.



Most Expected 250 Questions \

“Z @Reasoningbybasantsir

Statement / v B
All planets are moons / @4 I, TS &

All moons are stars /H‘lﬁ?ﬁtﬂ, AR 2

Some stars are satellites /g@‘&lﬁf{, STIE B

Conclusions / THeRY:

I. All moons are planets / Tt SEHT, UE gl

I1. All planets are satellites / @ Tg IUTE B

01. If only conclusion I follows.

02. If only conclusion II follows.
03. If either conclusion I or II follows.

04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow.



Most Expected 250 Questions \

“Z @Reasoningbybasantsir

Statement / hU:

All men are lion /H‘lﬁgﬁqﬁ'&'%l

All lion are cats / O g farfoeat 2
Some women are men /g@‘qﬁﬂmw%l
Conclusions / TsY:

I. All men are cats / % WW%I
II. All cats can be women /WWW'@W%I

01. If only conclusion I follows.

02. If only conclusion II follows.
03. If either conclusion I or II follows.

04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow



Most Expected 250 Questions

“Z @Reasoningbybasantsir

Statement / <hAA;

All flowers are stems /

a

. .
- & B

™\ C
Some stems are roots / hY d-d Vg %I
Some roots are leaves /WEW%I

Conclusions / feRy:

I. All roots are flowers /

H

S Bl @

I1. All stems are flowers / EWF@‘ el %I

01. If only conclusion I follows.

02. If only conclusion II follows.

03. If either conclusion I or II follows.

04. If neither conclusion I nor II follows.

05. If both conclusions I and II follow



Mbst Expected 250 Questions iF

@Reasoningbybasantsir

Statement / Sh: R
All flowers are stems /H‘iﬁ‘ﬂg?f?ﬁ‘%l

Some stems are roots / gﬂ‘ﬂﬁ\_ﬂg%l

Some roots are leaves /EW\‘rl's'Qﬁ'Q"r%I

Conclusions / TSR

I. All leaves being stem is a possibility / Y I o a= B Rl THTaET
2

II. 10% leaves are root /10% Ui € Bl

01. If only conclusion I follows.

02. If only conclusion II follows.

03. If either conclusion I or II follows.
04. If neither conclusion I nor II follows.
0S. If both conclusions I and II follow.



Most Expected 250 Questions \

“Z @Reasoningbybasantsir

Statement / <h Y

All men are lion /H‘Jﬁwiﬁ'ﬁ'ﬁl

All lion are cats / OHY 6% Teiieorat 2
Some women are men / EWW%ETQW%I
Conclusions / fsery:

I. All cats being women is a possibility / Tt [afeeran o wigams g 6y
TUTIAT 2 |

II. All men being cat is a possibility / &%t qoy o Tafeemar g <t
TS 2

01. If only conclusion I follows.

02. If only conclusion II follows.

03. If either conclusion I or II follows.
04. If neither conclusion I nor II follows.
0S. If both conclusions I and II follow



Most Expected 250 Guestions

“Z @Reasoningbybasantsir

There are six teachers P, Q, R, S, T, and U in a schod‘*l’s
Each of the teachers teaches two subjects, one
compulsory subject and the other optional subject. S’s
Optional subject was History while three others have it
as a compulsory subject. T and U have Physics as one of
their subjects. U’s compulsory subject is Mathematics
which is an optional subject of both R and T. History
and English are P’s subjects but in terms of compulsory
and optional subjects, respectively and these subjects
are in reverse order for S. Chemistry is an optional
subject of only one of them. The only female teacher in
the School has English as her compulsory subject.



Most Exected 250 Questions

% @Reasoningbybasantsir

T Thel H 98 0T8T P, Q, R, S, T 3R U &l Tcieh S1eTe
= fare, waﬁaﬁﬁwﬁ?mwmm
21 |S =1 Frfeus v shem ot Safeh 9 o o
UTH g Teh AT fore=r ol T 3R U o U1 3k oot
H ¥ Uk Hifaeh! 31 U ot A i mfiira g ST R 3R T
T AT dehicdeh T ¢ | STaaT SR S P o o9 &,
AfRT SHAT: TR 3R AehfcUsh faudt & @99 ¥ 2,
IR Y fawzr S o feru foodia e ® 3 e e sau
HIA U T Ah{cUsdh 9T gl Thet H THATT AlGAT
f1erer % uTE arfame forwe & w5 et )



Most Expected 250 Questions

S’s Optional subject was History while three others have it asBis
compulsory subject. T and U have Physics as one of their
subjects. U’s compulsory subject is Mathematics which is an
optional subject of both R and T. History and English are P’s
subjects but in terms of compulsory and optional subjects,
respectively and these subjects are in reverse order for S.
Chemistry is an optional subject of only one of them. The only
female teacher in the School has English as her compulsory
subject.

What is R’s compulsory subject?

R &1 AT foee s 22

01. History

02. Physics

03. Chemistry

04. English

05. Mathematics

@Reasoningbybasantsir



Most Expected 250 Questions

S’s Optional subject was History while three others have it asBis
compulsory subject. T and U have Physics as one of their
subjects. U’s compulsory subject is Mathematics which is an
optional subject of both R and T. History and English are P’s
subjects but in terms of compulsory and optional subjects,
respectively and these subjects are in reverse order for S.
Chemistry is an optional subject of only one of them. The only
female teacher in the School has English as her compulsory
subject.

Who is a female member in the group?

HE H Ueh Higell 95H hid 82

@Reasoningbybasantsir



Most Bapected 250 Questions {
S’s Optional subject was History while three others have it asBis
compulsory subject. T and U have Physics as one of their
subjects. U’s compulsory subject is Mathematics which is an
optional subject of both R and T. History and English are P’s
subjects but in terms of compulsory and optional subjects,
respectively and these subjects are in reverse order for S.
Chemistry is an optional subject of only one of them. The only
female teacher in the School has English as her compulsory
subject.

Which of the following are compulsory and optional subjects
like P?

fAaferiaa 5 O TohTrht P o G0 SAHATE 3T JehfcUdh (9T 82

01.R
02.Q
03.S
04. T
<7 @Reasoningbybasantsir 05. No one has



Most Bapected 250 Questions {
S’s Optional subject was History while three others have it asBis
compulsory subject. T and U have Physics as one of their
subjects. U’s compulsory subject is Mathematics which is an
optional subject of both R and T. History and English are P’s
subjects but in terms of compulsory and optional subjects,
respectively and these subjects are in reverse order for S.
Chemistry is an optional subject of only one of them. The only
female teacher in the School has English as her compulsory
subject.

Which of the following is a compulsory and optional subject in

reverse order of U?

U & 3¢¢ o H ARG § | et AT 3R Jehfeush
IELR RS,
01.P
02.Q
03.R
04. T
<7 @Reasoningbybasantsir 05. None of these




Most Expected 250 Questions

S’s Optional subject was History while three others have it asBis
compulsory subject. T and U have Physics as one of their
subjects. U’s compulsory subject is Mathematics which is an
optional subject of both R and T. History and English are P’s
subjects but in terms of compulsory and optional subjects,
respectively and these subjects are in reverse order for S.
Chemistry is an optional subject of only one of them. The only
female teacher in the School has English as her compulsory
subject.

Which of the following groups has History as the compulsory
subject?

ﬁm%f@mﬁﬁf%wméaw srtaT forva & wu  sfaem 32

01. P,Q,S
02. Q,R,S
03. R,S
04. P,Q,R
«7 @Reasoningbybasantsir 0S. P,S



Mbst Eected 250 Questions i

“Z @Reasoningbybasantsir

Ram, Ramesh, Rakesh, Rajesh, and Rohan are ﬁ[!'vé
members of a family. They have their birth months from
January to May. Each member was born in one of these
months. Each one likes one particular item for his birthday
out of Bengali Sweets, Chocolates, Pastries, Ice Cream and
Dry Fruits. The one who likes Pastries is born in the month
which is exactly middle in the months given. Rajesh does
not like Ice cream but brings Chocolates for Ram in
February. Rohan who likes Bengali sweets is born in the
next month immediately after Rakesh. Rakesh does not like
Dry fruits or Ice cream



Most

BExpected 250 Questions

% @Reasoningbybasantsir

T, THIT, ThIT, T 3

R ST Ueh O

e & TS Aok IR T % WE $| T HEET 39 wEe |
| Uk U UST FAT o ST THSTS, <Atehele, U, HATSHShIA
ﬁ?@émﬁﬁmaﬁmwﬁ?%mwﬁﬁv
ATZew THE Bl TE W I qHE AT ¥ 9w Ru T wdA &
aﬁ%ﬁw&wmﬁn‘éﬁﬁﬁagmmﬁwaﬁamzﬁwmﬁﬁ%
ATRT WE U T & foT0 Sitehoie o 81 et fusteat =t
UHE T ATl U ST A-H ThRIT o QU A8 7T HEH |
gmlmﬁaémmamzﬁnmﬂﬁ%l



Most Expected 250 Questions

«7 @Reasoningbybasantsir

The one who likes Pastries is born in the month whichis
exactly middle in the months given. Rajesh does not like Ice
cream but brings Chocolates for Ram in February. Rohan
who likes Bengali sweets is born in the next month
immediately after Rakesh. Rakesh does not like Dry fruits
or Ice cream.

What is the choice of Rajesh?

TIST9T hl TS T 22

01. Pastries
02. Dry fruits
03. Bengali sweets

04. Cannot be determined
05. None of these



Most Expected 250 Questions

«7 @Reasoningbybasantsir

The one who likes Pastries is born in the month whichis
exactly middle in the months given. Rajesh does not like Ice
cream but brings Chocolates for Ram in February. Rohan
who likes Bengali sweets is born in the next month
immediately after Rakesh. Rakesh does not like Dry fruits
or Ice cream.

What is the choice of Rajesh?

TIST9T hl TS T 22

01. Pastries
02. Dry fruits
03. Bengali sweets

04. Cannot be determined
05. None of these



Most Expected 250 Questions

«7 @Reasoningbybasantsir

The one who likes Pastries is born in the month whichis
exactly middle in the months given. Rajesh does not like Ice
cream but brings Chocolates for Ram in February. Rohan
who likes Bengali sweets is born In the next month
immediately after Rakesh. Rakesh does not like Dry fruits
or Ice cream.

Which combination of month and item is true for Ram?

T % foru wdie iR oTTgew {T&q) T iH- AT HAIT T 22

01. March — Pastries
02. February — Pastries
03. February — Ice cream

04. Cannot be determined
05. None of these



Most Expected 250 Questions

«7 @Reasoningbybasantsir

The one who likes Pastries is born in the month whichis
exactly middle in the months given. Rajesh does not like Ice
cream but brings Chocolates for Ram in February. Rohan
who likes Bengali sweets is born in the next month
immediately after Rakesh. Rakesh does not like Dry fruits
or Ice cream.

What is the choice of Ramesh?

9T T gHE T 22

01. Ice cream

02. Bengali sweets

03. Dry fruits

04. Cannot be determined
05. None of these



Most Expected 250 Questions

«7 @Reasoningbybasantsir

The one who likes Pastries is born in the month whichis
exactly middle in the months given. Rajesh does not like Ice
cream but brings Chocolates for Ram in February. Rohan
who likes Bengali sweets is born in the next month
immediately after Rakesh. Rakesh does not like Dry fruits
or Ice cream.

In which month was Ramesh born?

YT T ST foRer WE § gaT o?

01. January

02. May

03. January or May
04. Data inadequate
0S. None of these



Most Expected 250 Questions

«7 @Reasoningbybasantsir

The one who likes Pastries is born in the month whichis
exactly middle in the months given. Rajesh does not like Ice
cream but brings Chocolates for Ram in February. Rohan
who likes Bengali sweets is born In the next month
immediately after Rakesh. Rakesh does not like Dry fruits
or Ice cream.

Which of the following combination is not correct?

fAefcTiRaa ® & 19 A1 O 98l 781 82

01. Ram Chocolate

02. Rakesh — Pastries

03. Rohan — Bengali sweets
04. Rajesh Ice cream

05. Ramesh — Ice cream



Most Expected 250 Questions

«7 @Reasoningbybasantsir

P,Q,R,S, T, U and V are sitting on a wall and all of tli?fn
are facing east. R is on the immediate right of S. Q is at an
extreme end and T is his neighbour. V is exactly between T
and U. S is sitting third from the south end.

P,Q,R,S, T, U 3RV Tk AR WS & AR 37 A+ 1 7@
ge T SR Bl R, S % T ST¢ TR 2| Q T 3ifaw SR W 7 iR
TITRTUSET I T IR U K SR A= H V, 21 S AT 3R 9
Y T W1 33T B




Most Bxpected 250 Questions iF

«7 @Reasoningbybasantsir

P,Q,R,S, T, U and V are sitting on a wall and all of the'Br'isl
are facing east. R is on the immediate right of S. Q is at an
extreme end and T is his neighbour. V is exactly between T
and U. S is sitting third from the south end.

Who is sitting immediate to the right of T?

T o A 314 3T A I3T 82

01. P 02. R
03. S 04. U
05.V



Most Bqpected 250 Questions iF

«7 @Reasoningbybasantsir

- IBPS

P,Q,R,S, T, Uand YV are sitting on a wall and all of them are
facing east. R is on the immediate right of S. Q is at an
extreme end and T is his neighbour. V is exactly between T
and U. S is sitting third from the south end.

Which of the following pairs of people are sitting at the

extreme ends?

freteaRaa & & wia-ar e ifdw SR W SeT 27

01. PQ 02. PT
03. RQ 04. UQ
0S. TR



Most Bepected 250 Questions iF

«7 @Reasoningbybasantsir

- IBPS

P,Q,R,S, T, Uand YV are sitting on a wall and all of them are
facing east. R is on the immediate right of S. Q is at an

extreme end and T is his neighbour. V is exactly between T
and U. S is sitting third from the south end.

Name the person who after changing his place with R will
become third from the northern end
39 Sq<h R ATH FaT30 AT R oh AT AYAT TAT IS oh 918

I BR | R0 g e

01. T 02.U
03.V 04. S
05.Q



Most Bxpected 250 Questions iF

«7 @Reasoningbybasantsir

IBPS

P,Q, R, S, T, U and V are sitting on a wall and all of them
are facing east. R is on the immediate right of S. Q is at an

extreme end and T is his neighbour. V is exactly between T
and U. S is sitting third from the south end.

S sits exactly in the middle of which of the following pairs?

Foreaferfiar 3 3 ot 1 % g1 e & G137

01. PR 02. PU
03. RT 04. RU
05. QV



Most Bqpected 250 Questions iF

«7 @Reasoningbybasantsir

- IBPS

P,Q,R,S, T, UandV are sitting on a wall and all of them are
facing east. R is on the immediate right of S. Q is at an

extreme end and T is his neighbour. V is exactly between T
and U. S is sitting third from the south end.

Which of the following is different from the group of other

four options?

fAfeTRad ¥ & ShI9-A7 37 IR foshedi o 99E | 16T 82

01.R 02.S
03.T 04. U
0S.P



ééb’ Most Expected 250 Questions !éﬁ
\ 5426287054%3929$16527#9386@23145p
9872b43

How many 3's are there in the above arrangement, each of
which is immediately followed by a perfect square? (1 is

also a perfect square)

IUUH ST § fohaw 3 ¥, " @ weieh o @i 918 Uk 9ot

T B2 (1 o Tk Ut o ©)
01. None 02. One
03. Two 04. Three

05. More than Three

@Reasoningbybasantsir



Most Bqpected 250 Questions

«7 @Reasoningbybasantsir

5426g87©54* 3929$16527#9386@23145“""‘
9872b43

Which of the following is 7th to the right of 19th from the
left end of the above arrangement?

SURIH AT o 96 BR | 19 F o qME 3R 7a1 01 7 9 & 4-
qrg?

01. %

02.9

03.2

04. @
05. 6



Most Bxpected 250 Questions iF

5426g87©54* 3929$16527#9386@23145'BPS
9872b43

How many symbols are there in the above arrangement,
each of which is immediately preceded as well as
immediately followed by an even number?

SR ST & U3 Reert sreften § Rt & sedres % i wea
1Y F AT @ 91 H Teh 97 AT 82

01. None 02. One
03. Two 04. Three
05. More than Three

@Reasoningbybasantsir



Most Expected 250 Questions iF

5426g87©54* 3929$16527#9386@23145“"s

9872b43
If all the digits that are perfect square are dropped from

the above arrangement, which of the following will be 13th
(digit/symbol) from the left end of th above arrangement?

(1 is also a perfect square)

afe @t eieh WY gt ot ¥, Ui s & ger iU o §,
SUAH ST H AT § q hi9-97 978 3R | 1397 (3ieh/Id1eh)

BIT? (1 91 T U1 1 )

01. % | 9
03. # 04. 6
05.5

“Z @Reasoningbybasantsir



@Reasoningbybasantsir

Most Bqpected 250 Questions iF

5426g87©54*3929$16527#9386@23145"""‘
9872b43

If all the symbols and letters are dropped from above
arrangement then which of the following number is 15th

from right end of the above arrangement?
Ite ool TRt ST 18RI ! SURIRE STTEAT 2T 18T 14T 2,
T IUAH SFTET W AAfeiiRgd § O Shia-Ht §E 215 3R |

15t 22

01.2 02. 7
03.9 04. 3
05. 8



Mbst Expected 250 Questions 05

“Z @Reasoningbybasantsir

How many such pairs of letters are there in the WOT'

REPRODUCTION, each of which has as many letters in the
word (in both forward and backward directions) as they
have between them in the English alphabet series?

3158 REPRODUCTION ¥ 3780 o UH Tehaw I8 &, ™0 &
Tedeh o 1< 918 W (AT AR Ui ST faomment #) 3a & a1er
2 e for 37k sfter oIS uiaTeT ST # B 82

01. None

02. One

03. Two

04. Three

0S. None of these



Most Bpected 250 Questions

] @Reasoningbybasantsir

Rajeev walks 12 metres towards the South. Turning to the
left, he walks 5 metres to reach point T and then turns to
his right. After moving a distance of 20 metres, again he
turns to the right and walks S metres. Finally, he turns to

the right and moves a distance of 12 metres.

Trstter Sferur T 3T 12 HieT oietdl 31 18 oI qgay, 98 fog T
ek T o o1 5 Hie Tern § o T oTue 318 3T 9ear 21
20 Wit <ht T T I ok A1E, o€ T3 3TN TT & AR 5 WX
TeTaT gl 3d W, 98 IME AR TSaT ¢ AR 12 Hiew s gh a7
AT 2



Most Bpected 250 Questions

«7 @Reasoningbybasantsir

Rajeev walks 12 metres towards the South. Turning to the
left, he walks 5 metres to reach point T and then turns to
his right. After moving a distance of 20 metres, again he
turns to the right and walks 5 metres. Finally, he turns to
the right and moves a distance of 12 metres.

How far and in which direction is he from the starting

point?

g Yot foig & ferat 9T oiit fommr fewmr & 22

01. 10 metres North 02. 20 metres South
03. 20 metres North 04. 10 metres South
05. None of these



Most Bqpected 250 Questions ‘

«7 @Reasoningbybasantsir

Rajeev walks 12 metres towards the South. Turning to the
left, he walks 5 metres to reach point T and then turns to
his right. After moving a distance of 20 metres, again he
turns to the right and walks S metres. Finally, he turns to
the right and moves a distance of 12 metres.

Find the shortest distance between starting point and point

T.
uriferer foig i feig T o ofter st were o1t gt 7 i)

01.5m 02.17 m
03.13 m 04. 7 m
05.11 m



Most Expected 250 Guestions

“Z @Reasoningbybasantsir

How many such digits are there in the number “615498723”
each of which as far away from the beginning of the
numbers as when the digits are rearranged

in ascending order within the number?

HEAT "615498723" | W foha 3ik B, ’”F9H 9 U =TT
TGATA & a1 &Y G W & T 3iehT ohl AAT o WAL ARIET
T H USSR (SRt ST §2

01. None

02. One

03. Three

04. Four

0S. None of these



Mbst Expected 250 Questions 05

«7 @Reasoningbybasantsir

~ IBP

If in a certain code, ‘DELHI' is written as 'XWPTS' an
‘MUNI' is written as ‘OGNS', then how will 'BHRIGU' be

written in that code?

Ife Tk fAfia &g & DELHI &1 XWPTS' 3iR 'MUNI "&t
'OGNS' foT@r |maT € o 39 &g ¥ BHRIGU' 8 fora

ATEIT?

01. ZSTJHU
02. ZTJSUG
03. ASJTUG
04. BUKTVI
05. UGORHB



Most Bpected 250 Questions

«7 @Reasoningbybasantsir

Seven persons are sitting around a triangular tabl&
from A to G with equal distance on each side. Two
people are sitting on two sides and three people are
sitting on one side. All the people are facing
towards the centre. G, A and E are on the same
side. D is to the immediate left of G and C is to the
immediate right of E. F is not near to D.

A ¥ G T Ueh FIYSITehR U o TR 3R AT A<k
%%ﬁqﬁmwmwaﬁ%m‘raﬁ?a‘r
—qﬁﬁa%%aﬁ'{qzﬁaﬁ'{aﬁ?—qﬁsa%%lmﬁwem
T hg T TR B G, A ARETHETTWEHEI D, GF
31 I g 3R C, E o 31k 29 21 F, D & fAehe T2
2



Most Bpected 250 Questions

@Reasoningbybasantsir

'
Seven persons are sitting around a triangular tab
from A to G with equal distance on each side. Two
people are sitting on two sides and three people are
sitting on one side. All the people are facing
towards the centre. G, A and E are on the same
side. D is to the immediate left of G and C is to the
immediate right of E. F is not near to D.

Who sits to the immediate left of E?
01. A
02. B
03.C
04.D
05. G



Most Bpected 250 Questions

«7 @Reasoningbybasantsir

iz
Seven persons are sitting around a triangular tab
from A to G with equal distance on each side. Two
people are sitting on two sides and three people are
sitting on one side. All the people are facing
towards the centre. G, A and E are on the same
side. D is to the immediate left of G and C is to the
immediate right of E. F is not near to D.
How many people sit between A and F, when
counted from the left of A?
01. One
02. Two
03. Three
04. Four
05. None of these



Most Expected 250 Questions

X

«7 @Reasoningbybasantsir

Seven persons are sitting around a triangular tab s
from A to G with equal distance on each side. Two
people are sitting on two sides and three people are
sitting on one side. All the people are facing
towards the centre. G, A and E are on the same
side. D is to the immediate left of G and C is to the
immediate right of E. F is not near to D.

If all the people are arranged alphabetical order
from A in clockwise direction then the position of
how many people are unchanged?

01. One

02. Two

03. Three

04. None

05. Four



Most Bpected 250 Questions 7

Seven persons are sitting around a triangular tab s
from A to G with equal distance on each side. Two
people are sitting on two sides and three people are
sitting on one side. All the people are facing
towards the centre. G, A and E are on the same
side. D is to the immediate left of G and C is to the
immediate right of E. F is not near to D.

Four of the following five are alike in a certain way
and hence form a group. Which one of the
following does not belong to the group?

01.BF
02. CE
03.DB

04. A G
<7 @Reasoningbybasantsir 05. A E



Most Expected 250 Questions _
Eight people H, F, D, K, R, T, M and S are sitting'®s
in a row and facing towards the north direction.
There are three people between R and D. D is third
from the right end of the row. T is second to the
right of K and is not near to D. M is at the extreme
end of the row. S is not near to D. F is second to the
right of H.

AR A H,F,D,K,R, T, M 3 STRUGFHIS &
3T IThT HE& 3T fS9TT T ST Bl R 3R D & &=

o safn 1 D Ufs 6 2T SR A AT B T, K 6 7
T TEY T W E 3 D o Fewe 78 1 M ufe &
AT BR IR S, DF PFc AR F, HF e &

TE T W 3
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Eight people H, F, D, K, R, T, M and S are sitting’®?

in a row and facing towards the north direction.
There are three people between R and D. D is third
from the right end of the row. T is second to the
right of K and is not near to D. M is at the extreme
end of the row. S is not near to D. F is second to the
right of H.

Who sits to the extreme left end of the row?

01.M
02. K
IR |
04.D
05. T
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Eight people H, F, D, K, R, T, M and S are sitting’®?

in a row and facing towards the north direction.
There are three people between R and D. D is third
from the right end of the row. T is second to the
right of K and is not near to D. M is at the extreme
end of the row. S is not near to D. F is second to the
right of H.

Who sits fourth to the left of F?
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Eight people H, F, D, K, R, T, M and S are sitting’®?

in a row and facing towards the north direction.
There are three people between R and D. D is third
from the right end of the row. T is second to the
right of K and is not near to D. M is at the extreme
end of the row. S is not near to D. F is second to the
right of H.

How many people sit between H and R?

01. One
02. Two
03. Three
04. Four
05. None
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Eight people H, F, D, K, R, T, M and S are sitting’®?

in a row and facing towards the north direction.
There are three people between R and D. D is third
from the right end of the row. T is second to the
right of K and is not near to D. M is at the extreme
end of the row. S is not near to D. F is second to the
right of H.

How many people sit to the right of T?

01. Five

02. Six

03. Four

04. Seven

05. None of these



Most Expected 250 Questions
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Six members of a family E, K, O, F, D and W are®
related to each other. E is the father of K who is the
only son of D. The only Unmarried sister-in-law of
E is W who has no brother. O is the only sibling of
E. F is the daughter of K.

Teh UGN & B8 Ga&T E, K, O, F, D 3T W Teh T&
| Hefed g1 E, K &1 {Uat ¢ S D &7 3ehei a1 9 g1 E
h ST ATaTRd ATt W g RrereRT i wrg T2t
31 O, E &1 FheA [T WaIX 21 F, K <ht U=t 21



Most Expected 250 Questions
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Six members of a family E, K, O, F, D and W are®
related to each other. E is the father of K who is the
only son of D. The only Unmarried sister-in-law of
E is W who has no brother. O is the only sibling of
E. F is the daughter of K.

How many females are there in the family?

01. One

02. Two

03. Three

04. Four

05. Cannot be determined



Most Expected 250 Questions
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Six members of a family E, K, O, F, D and W are®
related to each other. E is the father of K who is the
only son of D. The only Unmarried sister-in-law of
E is W who has no brother. O is the only sibling of
E. F is the daughter of K.

If Q is married to K then how is Q related to O?
01. Daughter

02. Sister

03. Mother

04. Niece

05. Daughter-in-law



Most Expected 250 Questions
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Six members of a family E, K, O, F, D and W are®
related to each other. E is the father of K who is the
only son of D. The only Unmarried sister-in-law of
E is W who has no brother. O is the only sibling of
E. F is the daughter of K.

How is F related to D?

01. Granddaughter

02. Sister

03. Mother

04. Niece

05. Daughter



Most Bepected 250 Questions \\
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Ravi walks 9 km towards the west then he turns

right and walks 7 km. Again he turns right and

walks S km. Now, he turns left and walks 9 km. In

which direction and how far is he from his starting
point?

T%Qfﬂwsﬁaﬁwﬁsﬁaﬁm%ﬁﬂa%mm%
371X 7 TRt <retaT 81 e foRe & 270 weaT £ o7 5 fRw
AT g T, 9g AT m?ngm%aﬁwﬁm%aﬁm%l
Wmmﬁaﬁﬁﬁqmﬁ 3 ferait 22
(1) 16.49 km, North-west

(2) 11.29 km, South

(3) 12.09 km, East

(4) 10.19 km, South-east

(5) None of these
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In a certain code language,

‘manager should go office’ is written as ‘la ta ja sa’

‘on time at sharp manager’ is written as‘ja pa ra da’
‘Professional should go on time’ is written as ‘da ta fa la’

What is the code for ‘at’?
(D ra

(2) pa

(3) Either ra or pa

(4) da

(5) None of these
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In a certain code language,

‘manager should go office’ is written as ‘la ta ja sa’

‘on time at sharp manager’ is written as‘ja pa ra da’
‘Professional should go on time’ is written as ‘da ta fa la’

Which of the following is the code for ‘professional’?
(1) ta

(2) da

3) 1a

(4) fa

(5) None of these



Most Expected 250 Questions \\
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In a certain code language,

‘manager should go office’ is written as ‘la ta ja sa’
‘ontime at sharp manager’ is written as‘ja pa ra da’
‘Professional should go on time’ is written as ‘da ta fa la’

Whatdoes ‘ta’ standfor?
(1) Manager

(2) office

(3) professional

(4) Ontime

(5) None of these



Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269
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Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

In the last step, which number is 3rd from the right
end of the given input?

a) 41

b) 16

c) 14

d) 18

e) None of these
«7 @Reasoningbybasantsir



Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

What is the sum of last three numbers in step IV of
the given input?

a) 30

b) 58

¢) 46

d) 40

e) None of these
] @Reasoningbybasantsir



Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

Which number is 4th from the left end in step II of the
given input?

a) 1129
b) 1159
¢) 1126
d) 2936
e) None of these
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Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

What is the absolute difference of the 3rd number
from right end in step III and 2nd number from the left
end in step I11?
a) 37
b) 26
¢) 25
d) 20
e) None of these
] @Reasoningbybasantsir



Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

Which among the following is the first number from
left end in step IV of the given input?

a) 08

b) 10

¢) 16

d) 18

e) None of these

«7 @Reasoningbybasantsir



Join my
TELEGRAM GROUP

) @reasoningbybasantsir

Daily PDF of all YT sessions
Discussion / Doubt Solving
Direct Interaction with me
Quiz
@ Polls



